Efficiency vs Dxy(PV)

L LN N LRl UL LN L) LR LR LA LA

0.

5=30-15-10 5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_V0001_R000000001__Global__CMSSW_NOBATCH__RECO
—— DQM_V0001_R000000001__Global__CMSSW_BATCH__RECO
[Efficienc]| —— DQM_v0001_R000000001_ Global__CMSSW_FIX__RECO

o
© B

o
(2]
T[T T T[T T T[T T T[T T T

efficiency vs dxy(PV.

o
IS

0.

02040608 1
TP dxy(PV) (cm)

931=0.6-0.6-0.4

Efficiency vs Dz(PV)
1.

< [ .

o L N

§ f :

O b e
s F .

> :

o I .

Y A S SN S S
2 [ .

= r N

@ - :

S F. A e
0.4:_ ............ [ —— J: ............ [
0.2f--e e P ErEE Feeens

[ i i ; i i

o+ X

T

@

i
0¥ =20 -i0 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

S 1. 5 -
o L .
¥ :
P 1 R A b -
> .
> H
o .
S oogh- et b
o [ .
@ - :
06_ .......... [ —— J. ....... deafaaaa -
04-_ .......... T J: ....... deakaaaa ..
02-_ ......... [ R — J: ....... I - ..
[ i i i i
o+ T 1
T .
[vd .
R CREERERY . | EEEEEE I b2
095 .
-1 -0.5 0

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


